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Array & &

o LIV Z A
o ERDATIIVMNERFHOILHTES

[1, 1, 2, 3]

[1, "two", [3, "3"], 4.0, :fivel



Array & (2)

a = [1, "two", [3, "3"], 4.0, :fivel

0] # => 1
1] # => :five
:1] — "2nd"

'3, 2] # => [4.0, :five]
1..-2] # => ["2nd", [3, "3"], 4.0]
5] # => nil
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Array #7927 hDEDS

["a", "Db", "c"] # => ["a", "b", "
("a".."c").to_a # => ["a", "b", "
a
a

[*"a".."c"] # => :n hoonpn o
swla b cl] ¥ => [" L L

O O O O




Array A7z 7 hDIEDHE (2)

"No Ruby, No Life.".scan(/\w+/)
# => ["NO", "Ruby", "No", "Life"]

"1,1,2,3,5,8".split(/,/)
# => [lllll, lllll’ ll2|l, l|3ll, |l5ll, ll8l|:|



Hash & (&

o EMEECHV X
o ERDATIIV M EFHOILHTES
e EEDATIT IV MNEF—ICTES

{:AAPL=>566.71, :G00G=>605.23}

{AAPL: 566.71, GOOG: 605.23}
# => {:AAPL=>566.71, :G00G=>605.23}



Hash & (& (2)

h = {AAPL: 566.71, GOOG: 605.23}

h|:AAPL] # => 566.71
h[:MSFT] = 31.16
h[:FB] # => nil




Hash A7 x 7 FDIED A

a = [:AAPL, 566.71, :G0O0G, 605.23]

Hash [*a]
# => {:AAPL=>566.71, :G0O0G=>605.23}



Array D{JHAE

Array.new(4, 0) # => [0, O, O, O]

a = Array.new(3, "ruby")
a # => ["beyn, "IUbY", nrubyn]

al0] .upcase! # => "RUBY"

a # => ["RUBY", "RUBY", "RUBY"]



Array D{JHAE

a = Array.new(3, "ruby")

al0] .upcase!




Array D{JHAE

a = Array.new(3, "ruby")

al0] .upcase!
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Array OFFEIE  (2)

a = Array.new(3){"ruby"}
a #H => ["IUbyn, "IUbY", nrubyn]
al0] .upcase! # => "RUBY"

a # => ["RUBY", "ruby", "ruby"]



Array DFJHA{E

a = Array.new(B){"rUbY"}

(2)

al0] .upcase!
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Array D#JHA{L

a = Array.new(3){"ruby"}

(2)

al0] .upcase!
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Hash 577 # )L ME

hash = Hash.new(0.0) # => {}

hash[:AAPL] # => 0.0
hash = Hash.new{|h, k| h[k] = ""}
hash # => {}
hash[:GO0OG] # => "o
hash[:IBM] # => no

X F—DRIR



BDIRL each

[0, 1, 2].each{|i] puts i}

[0, 1, 2].each do |il
puts 1
end

# >> 0
# >> 1
# >> 2



=D IRL Enumerable

Array.ancestors
# => [Array, Enumerable, Object, Kerne

Hash.ancestors
# => [Hash, Enumerable, Object, Kernel

e Enumerable
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#DiRLU  Enumerable (2)

a=1[2, 3, 5, 7] # =>[2, 3, 5, 7]

a.map{|i|l i * i} # => [4, 9, 25, 49]
a.select{|il| i.even?} # => [2]

a.inject{ls, il s += i} # => 17

a.all?{In| n.prime?} # => true



EDIRLEZENRA

a = [[:matz, 47], [:dhh, 32]]
a.each{|i| puts "#{i[O]}(#{i[1]H)"}
a.eachi{|name, agelputs "#{name} (#{age})"}

# >> matz(47)
# >> dhh(32)



BEDIRLEZENA (2)

a = [[1, [:matz, 47]], [23 [:dhha 32]]]
a.size  => 2

a.each do |id, (name, age) |
puts "#{id}: #{name}(#{agel})"
end

# >> 1: matz(47)
¥ >> 2: dhh(32)



BhiRLU EZERA (3)

= {matz: 47, dhh: 32}
h.each{|i| puts "#{i[O]}t(#{i[1]1})"}
h.each{|name, agel|puts "#{name} (#{agel})"}

# >> matz(47)
# >> dhh(32)



Array ) JE—

a = [1, 2, 3]




Array O E—

a:

O—l
Il

al0]

[1, 2, 3]

0

d

<




Array O E—

a:

O—l
Il

al0]

[1, 2, 3]

0

d




Array O E—

a:

al0]

[1, 2, 3]

0

d

<




Array O JE— (2)

q = [nan, "b", "C"]
b = a.dup
a[o] = MAM

3 # => :nAu, "b", "C":
b # => :nan, "b", "C":




Array D E— (3)

q = [nan, "b", "C"]

b

a.dup
all] .upcase!

a # => :nau, an, "C":
b # => :nan, "B", "C":
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[nan
a.dup

, llbll,
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Array O E—

v T P

|—\ o oo

[nan . nbu . "C"]
a.dup

= NAM a

(2) (3)
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Array O JE— (2) (3)

a = ["a", "b", "c"] A
b = a.dup T
al0] = "A a ~ 0
all] .upcase!
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Array O E—

a = ["a", "b",
b = a.dup

al0] = "A
all] .upcase!
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THE I,

a = []
# IhEDULT
a # => [0, 1, 2, 3]
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"No Ruby, No Life.".scan(/\wt+/).
# A EDUTEE

# >> 2: No
# >> 1: Ruby
# >> 1: Life
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